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[1] (x +3) (x —3) (2] (x —4)2

= x’—3° = x’ —2x4xx +(—4)°

=x’—9 =x’—8+16

(3] (x +2) (y+3) \{ﬁ’f"ﬁ“m’] 4 (x+1) (x +8)

=xy +3x +2y +6 = x7 +(1+8)x +1x8

= x’ +9x+8

5] (x —2) (x +6) (6] (x +2)2

= x’+( —2+6)x —2x6 = x’+2x2xx +2°

= x’ +4x—12 = x’ +4x +4

(71 (x +10) (x —10) 8] (b+2) (b —3) ﬁii;ﬁiﬂ“]
= x’—10° = b’ +(2 —3)b+2x —3

= x’—100 =b’—b—6

(9] (a +8) (a —8) [10] (x —6)2

=q°—8° = x’ —2x6xx +(—6)°

= a’ —64 = x’—12x+36
[11] (5x —4y)? ) [12] (x+y+3z) (x+y—3z)

Sx=A,4y=B L#< x+y=A4 L#< 2D

= (4 —B)° = (A +32)(4 —3z)

= A’ —24B +B° = A°—(3z)°

= (5x)° —2x5xxdy + (4y)° = (x +y)° —9z°

= 25x° —40xy +16y° = x’+2xy+y° —9z°
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